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MAME SYMBOL EJ_EFIHITIGN HAME SYMBOL et WITH FORMULA
Elsctromalive Force (EMF] E Elsctncal Vol v Voltmeter E = IR
Polential Differance Force
Voliage
Curreni I Electron Ampers A 0 Ammeter I =E/R

Flow
Resislance R Opposition Obm 5] Ohmmeter R =E/L
to Currant
Power P Waork Watt W, w Wattmater P =EI;
= IEH;
= E2/R

Voltage in a Series Circult
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Eapplied = Eq = Etotat =ET
Epp = Voltage drop across R
IRz = Current thru R2

Ground: Connecled to sorth

ET Egpz R?  or "0 Polantiol Reference

L ER3

R3

Shorl: "0 Chms

Open: Nol connected,
infipite resistancs

Et = Eri+ Epz + ER3

Voltage in o Parollel Circult
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Current in o Parallel Circurt
IT =TI +I2+ I3

Currant in-a Sariexs Circuil

Ir=T1=12-13

Switch. A device usad to
close or open [make or

MNegolive Palarity: MNegalive T | i f

charge of alectricily

break) or (connect or dis- == 1 = —
= connact] an electrical 1 A\'I =
T circuil X:
FPositive Polarity: Posifive il iz A
It charge of electricity = A R2 A3
I3 A3
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Raststors in Serias Resistors in Parallel Equal Value Resisiors

=il Ri

Rye——
RT RIZ R2Z R3 Ry
Rl = Value of one Resistor
Rt @ - P Ry = Mumber of Resistors
Three or more res:siors

(Different Values) Two Resistors (Diffarent Voluss)
RT = Rl + R2 + R3 : Rl X R2
45 i *Ri+R2
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CALCULATION OF SERIES CIRCUIT VOLTAGES

OHM'S LAW METHOD
TO FIND Ep,

| RpeRi+R2Z=20+80~1004

TO FIND Eg,
| e+ RI+R2Z <20+ 801000
2 1, 2, /Ry = 160/100:1 60

60V ZHDIE 2 I+ E /Ry =160/100 » |60
FOWER 3 Egy=fyrAlz L6320 32Y 3 EpprlraRZ =1 ExBO =128Y
SURFLY
RATIO METHOD
10 FIND Egy TO FIND Epy
E?ﬁ-; | ReeAI+R2+20+B80=1004 | Rr=RI+R2=20+80=1000
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